Convertir Sistemas Numéricos (G)

Escriba cada respuesta en la base numérica indicada.

Octal =7
Decimal =

Hexadecimal = 9K

Decimal =

Octal = 614
Decimal =

Binario = 111100101
Decimal =

Octal = 20045
Decimal =

2.

10.

Hexadecimal = 5F
Decimal =

Binario = 1011111000
Decimal =

Octal = 1241
Decimal =

Hexadecimal = 191
Decimal =

Hexadecimal = 1155
Decimal =
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Convertir Sistemas Numéricos (G) Respuestas

Escriba cada respuesta en la base numérica indicada.

Octal =7
Decimal = 7

Hexadecimal = 9E
Decimal = 158

Octal = 614
Decimal = 396

Binario = 111100101
Decimal = 485

Octal = 20045
Decimal = 8229

2.

10.

Hexadecimal = 5F
Decimal = 95

Binario = 1011111000
Decimal = 760

Octal = 1241
Decimal = 673

Hexadecimal = 191
Decimal = 401

Hexadecimal = 1155
Decimal = 4437
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